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Special credit will be given for accuracy and relevance
in the answer. Marks will be deducted for incorrect
spelling, untidy work and illegible handwriting.
The weightage for each question has been
indicated in the margin.
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Answer any two questions.
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Discuss the results and political significance
of the grant of Diwani.
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What is deindustrialisation ? How did it
influence the Indian economy ?
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How far western influence did bring about
revolutionary changes in 19t century Indian
society ?
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Analyse the economic critique of the British

rule in India.
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Answer any three questions.
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Discuss the causes of conflict between
Siraj-ud-daula and the British East India
Company.
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Do you agree that the Faraizi and Wahabi
movements were anti-colonial in nature ?
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How was modern industry developed in
India ? What were the limitations of this
industry ?
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What were the approaches of Evangelicalism
and Utilitarianism towards India ?
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Assess the contribution of Raja Rammohun
Roy as a social reformer.
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Do you consider the Conspiracy theory in
the foundation of the Indian National
Congress, as justified ?
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Answer any four questions.
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What was the role of Ranjit Singh in the rise
of the Sikhs ?
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What were the basic causes of the conflict
between Mir Qasim and the English East
India Company ?
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Write a short note on the treaty of Salbai
and the treaty of Bassein.
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Why did the British Parliament enact the
Regulating Act (1773) ?
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Write a note on the Kol rebellion of 1832.
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What was the impact of the railways on
Indian economy ?
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How did the British power reorganise its
military force after 1857 ?
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Comment on the role of the press in the
development of Indian nationalism.
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